J( k+N- )z

s,=¢ "Qe V¥ k= N -

—fr: N=1
J(k+N- )z j( k)x -
ik
s, =e N =e e k=
s =e’" =
=1 e
“Br: N=2
j( k+N— )7r ]( k+ )
S =¢€ N =e k= »
o 0
il 5 3 T,
=e ! e/zz 237/7” e/
J i S
*
S =e s =5 =€ =e
\/5 a4 15" /1ﬂ - 1
e el e !ll'= e
2777

JjQ
e]§”=cosg7r+jsin37r 1
3 3 I3
————————— ey, €
J( k+N- )7r ]( k+ )71 j(k+ )7r :—%+j§ ><’ X
N
Sk =e N =& =e k = / \

jr j 7 R
i *
s =e s =e/"=— 5§ =5 =e =e
\
- S
2
?—lij\{?,—l e, e ¥ =




s, =e N =e k=
i j @
s =e s =e
jr jz
i jz Jjz
S =85 =e =e
j jr
i Iz _
s =S5 =e =e
JCk+N= )z JCk+ )z Jj(k+ )z
s, =e N =e =e
i iz
s=e s =e s =¢”
jr jr
.
s =5 =e =e¢
j 7z Jz
*
s =5 =e =e
Jj( k+N- )z J( k+ )x
Sk:e N :e k:
T T T
V4 T
T T



